P T PROFESSIONAL EXAMINATION BOARD
@b@é%ﬂ”c}m“"” Middle School Teacher Eligibility Test - 2018
2nd Mar 2019 2:30 PM

Topic:- Child Development & Pedagogy (CDP)

1) A student is provided with a choice of 15 topics of his/her interest to complete an assignment. This increases his/her

learning engagement. / WW@WWW%WW/WW% 15 iU o8 o %I
g 39 T Bl # gfg FRaT 21

1. Intellectual /Eﬁm
2. Behavioural/ dgR

3. Emotional /HIgd
4. Social / ATHINIS

Correct Answer :-

« Intellectual /m

2) ADHD children have difficulties in which of the following areas? /

fFafafea & 4 f5a &7 # cSivad) =i o $ieE gt 82
1. All of the above / SUdad Tt

2. Attention only / Bdel &I &1

3. Hyperactivity only / ad 3ifd gfgparar

4. Impulse control only / Fad AT a1

Correct Answer :-

« All of the above /wjaﬁmﬁ

3) In an intelligence test a 9 years old boy is found to have mental age of 10 years, he belongs to the IQ classification of

. | T g wder § te 9 9 ¥ v B AHRS 39 10 99 UrE &R B, @€ ¥
Fiffervor @ Tdfta 21

1. Superior / I (GARER)

2. Average / 39d

3. Genius / UfTHTRITER (SHFT)

4. Slow learner / FHGUTRT (AT FFTT)

Correct Answer :-

o Average / 3Md

4) Which theory of development also focuses on social interactions in development? / fd®TH &1 HE-T frgia, oo i |
g wael W ot e Hfga wrar 82

1. Vygotsky / CIEUIRS]
2. Piaget / ot



3. Freud / /PIOS

4, Kohlberg/ W‘f

Correct Answer :-

. Vygotsky / AT

5) Asking students to list the uses of iron metal in class will help a teacher to examine which one of the following creative

abilities in students? / BTl B! H&T T A BT YT P ITANT B A5 B & T Hg-11 Th RNgrw ot 9g o= &
e BN P ol § fFufafad # § e19-W AT & g2

1. Flexibility / TIeT

2. Originality / ﬁm
3. Elaboration /ﬁw
4. Fluency / Ydlg

Correct Answer :-

« Fluency /Udlg

6) The movement in Maslow’s Hierarchy of needs should be from /W%W%Wﬁ ATIYH T

T =fRe-

1. Love and belonging to Physiological needs / TR 3R 3(TATI T Il ALl ddb
2. Self- actualization to Physiological needs / 3TeH-fIRATOT & IR SaRgehdl db

3. Safety needs to Self-actualization / GR&T STAIH T H ST [V I

4. Physiological needs to Self —actualization / FTHTI® RIS § T Rifg dd

Correct Answer :-

« Physiological needs to Self —actualization | QIR Saaddr ¥ 3 Rifs a

7) Select the quality that is needed for a counselor. / ARl & i%nz SMTagP fa=war 1 7aq B |
1. being judgmental/ fAufas g

2. being arrogant / SHTAT BT

3. being empathetic / Wﬂiﬁ RS BT

4, being defensive / Y&THD Gl

Correct Answer :-

« being empathetic / ﬂ%’lﬂiﬂﬁ RS g

8) What is an infant likely to suffer from if the mother consumed large amounts of alcohol during pregnancy? / IR

TUTTRIT & SR AT A TSI 41T & IR FT Ja- fHan §, 9 R3] &) 71 Joar g1 & GUe 82
1. Prenatal retardation / U¥Id 113‘ Hedl

2. Fetal withdrawal syndrome / 40T a0} RigH

3. Fetal alcohol syndrome / Y01 Te] Rigid

4. Perinatal alcohol syndrome / PRECIRIC RG] ﬁl@l’q

Correct Answer :-

« Fetal alcohol syndrome / YOI W%@q



9) What strategy should a teacher use in a situation when the student is being impolite? / STA ¥ JES B o ot RAufa o

T fR1gr I forw Torifar &1 SuahT - ey

1. Punishment / 8

2. Remind the student of classroom norms / H&fT Il &I B & ATG fGAMT
3. Argue with the student / ST & 1Y qTe-faarg BT

4. Express shock / Sy B AT

Correct Answer :-

« Remind the student of classroom norms / D& A & sl &t g éa q

10) What is the term given to describe the conditioned stimulus before classical conditioning occurs? | FATRIS A

ST § A Ugd SJafrd ST 1 qui+ $ & R 19-91 s fear mar @2
1. Natural stimulus / m JST

2. Unconditioned stimulus / \’ri:ﬂaﬁlﬁ JaoT

3. General stimulus / JMHTI IToHT

4. Neutral stimulus / TCR] ST

Correct Answer :-

« Neutral stimulus / T 3T

11) What is the set of linguistic rules that govern the use of language for communication called? / ‘HTQ'I% BRI

PIF-9T T4 § S HUR & fore v & v &1 fFifia srar g
1. Grammar / H[H0]

2. Phonemes / W+

3. Pragmatics / ST

4. Syntax / AT ﬁﬁlﬁ

Correct Answer :-

. Pragmatics/GqC-I frdrare

12) By the age of six months, infants are able to do the following, except WA:H K] 31 P, QT‘{[ R

_ e sismdaema gl
1. Babbling / JadT

2. Crawling / Ud & & I (SHITeIT)

3. Situp / 964

4. Eat solids / 31 U&Td @M

Correct Answer :-

. Crawling / Ud & §& I (ShITCIT)

13) When social beliefs are transferred from one generation to another, it becomes part of: / SId AT AT

T N & gadt i & wirAiafva far sman 2, @ ag g9 it a9 9 8:
1. Transmission of culture / WWW



2. Social mobility / FTHTTST TfaRiterdr
3. Social change / AT TRaed
4. Individual development / HfgaTTd faer

Correct Answer :-

« Transmission of culture /W T IRT

14) Personality is measured based on approach./ feda ai TRDIVT & ATYR YR HIUT STl %I
1. Ideographic/ TATER favge (&Té%’ﬁ e )

2. Socio-radical / wﬁmmeﬁ

3. Surface-radical/ ﬂﬁﬁ-m‘lﬁ

4. Nomothetic/ AR SUH Ghﬁm

Correct Answer :-

« Nomothetic/ AR I @HIYH)

15) In which of Piaget’s 4 development stages is object permanence developed? / o & 4 oo srawmsi 4 A frd
AT ¥ g WTfea fasfa it 82

1. Formal Operations / Maies dfhards
2. Concrete Operational / %f BIERICAED

3. Preoperational / tlj Sfcharard

4. Sensorimotor / 3+ JfAd

Correct Answer :-

« Sensorimotor / 3‘@71 S

16) Piaget’s Pre-operational stage is from ___ ./ firars 3t Qﬁ-ﬂm AT %I
1.7-11 years / 7-11 EI'ET

2. 11 years and above / 11 atfqa 3fIH

3.2 -7 years / 2-7 %

4.0 -2 years / 0-2 Gl

Correct Answer :-

. 2-7years/2—7a'5f

17) Who said, An intelligence is a “biopsychological potential to process information in certain ways in order to solve
problems or create products that are valued in at least one culture or community”. ICE] Pel, §@T|T'|T IS B g
P 1 HU A HH U GP1d 91 9T § Tega SATG1 B g9 & Y 8 ahie! A THSRI B JH1fd A3 &
fore Sig A emar 31

1. Gardner/ TSR

2. Willinghany/ fafeied
3. Callahan/B e

4. Sattler/ @W



Correct Answer :-

o Gardner/7 g:R

18) According to Psychosexual developmental theory, failure to successfully complete a particular stage would result in: /

T Ry Risid & AR, TP Rk 2101 & Shadgde {1 &3 ke & uRomeaw=g gnm:
1. Fixation / FRRRIHRUT (i)

2. Libido / BTHIISHT

3. Electra complex / Teiag] HAURY

4. Oedipus complex / 3TFSTF Uy

Correct Answer :-

. Fixation / FUSH0 (Thaim)

19) By what age are children likely to make friends? / frasydsa i & TP B %'?
1. Four years / IR Ty

2. Three years /?ﬁ?{atf

3. One year / Wﬂ'sf

4, Two years /a3r Iy

Correct Answer :-

+ Three years / GIRkL]

20) is the main determinant of cognitive development and learning. / AT fapr 3 Srftrm
BT HE] fFuRe B

1. Values / 313&[*13
2. Beliefs / HI=dT

3. Principles / Rygid
4. Culture / Wﬁf

Correct Answer :-

+ Culture / W

21) If a child has difficulty putting words down on paper, it may be due to a learning disability. The best instructional
strategy to implement in a classroom to support children who struggle with writing would be to: /Tlﬁ' P s &t Q'IE-']'
B HRE R e # $f31E gt B, ot a5 iRReme sremrar & w1 §) adar 3 | AW & 01y Had w3+ ard a1 31
TUYT F & T Fem T an] F31 g g9 St srgeRE® YuHita fAafefaa g

1. Provide more time on task/ T8 TR 3{fe THY Tald hm

2. Provide extended periods of time in the resource room to receive one-on-one assistance/ gA-3i9-a9 Herdl Ured I D ]%’I'Q
T Hef T THT B fawaiiRd Safy UgM &

3. Provide peer tutoring during writing time/ G T &b R W?ﬁ[ﬂ:{ YT AT

4. Provide detailed directions and graphic organizers to help with structure./ TR & 1Y Hag P & [ ﬁﬂﬁ IBCRUIEIRS
ATt 31T UaT BT

Correct Answer :-



« Provide detailed directions and graphic organizers to help with structure./ ST & 1Y HGg HA & forg ﬁﬂﬁ [GEEIREIR
Uiithes TSI UG BT

22) The variable that the scientific investigator changes or manipulates is called:/ dg o} 5K aﬁTﬁ?ﬁ 3AYD deddl %
T FTHR HT 8, S BT ATdl 8-

1. independent variable/ Tdd TR

2. responding variable/ RERARIIEN
3. Control/ IIH

4, dependent variable/ SIERICH

Correct Answer :-

« independent variable/ Tda T

23) The mental networks that children form in their mind is known as: / Eicik:d ﬁ'ﬂT‘T ko aﬁ RIS W Al
T U A SE1 a1 8:

1. Impulses / AT ()

2. Archetypes / 3T (3ATHCTSY)
3. Maps / Q1T (HY)

4. Schemas / ORI (T 1H)

Correct Answer :-

« Schemas / GRS (B 1H1)

24) Which animal was involved in Pavlov’s experiment of classical conditioning? /

UTTAd & FATRIGE B3 IRIT-HT S TR H BI-AT FaR A Y12
1. Dog / Pl

2. Pigeon / MR

3. Rabbit / @RI

4. Rat / ggl

Correct Answer :-

25) Which of Erikson’s stages of psychosocial development involves the development of a sense of competence? / Qﬁ?\"’l‘[

& TS faer & S wror & uferaifrar @1 wren &1 faer afefrd giar g2
1. Autonomy vs. shame / XAl FTH Il

2. Industry vs. inferiority / REUERIEEHRG

3. Generativity vs. stagnation / SITIIHB AT §H R

4, Initiative vs. guilt / Ue <l d-1H ALKl

Correct Answer :-

« Industry vs. inferiority / I S g

26) Which of the following is not a hindrance to creativity? / frufafea 4 9 w1 wATEsa & 'I%IT{ Udh SaRIY :Iﬁ%"



1. Divergent thinking / o I

2. Functional fixedness / BT R STRIT
3. Convergent thinking / SR 9

4. Mental set / ATRI® I

Correct Answer :-

« Divergent thinking / IREKIE]

27) Which of the following disorders is caused due to error in cell division?/ PIRDT fauTor & aﬁ' & orul fFgfafag
Hq pH-I1 fIpR gt g2

1. ADHD / TSITdS!

2. Dyslexia ) fewaifaaan

3. Autism / 3fTcoH

4. Down’s Syndrome / SI3 ﬁl*_@'q

Correct Answer :-

. Down’s Syndrome / 813 =g 1H

28) The practice that legitimizes powerful men’s dominant position in society and justifies the subordination of the common
male population and women and other marginalized ways of a being a man is called . /ai;'um\—:ﬁm\—:r |

Sifr=el gl @t guTd! fRAfA B 34 F1elt @ 3R S Yo Srrardt SR afgansii & srfiar &) shfres v =t
2 3R U IoU g1 & o Wi afiwl Y PRIl

1. Femininity/?;ﬁar

2. Emphasized femininity / @ W SR ST
3. Complicit masculinity /aﬁatﬁw

4. Hegemonic masculinity/%@mm

Correct Answer :-

» Hegemonic masculinity/%@mw

29) What do you mean by curriculum? /Wﬁ STYDRT HT Hddd Eﬁ?lT%’
1. Sum total of the activities of a school. /ﬁWﬁWHﬁWI
2. Sum total of the annual study. /HT% AT Bt JHU|

3. A child learns through curriculum. /WWW@ &WW% |

4. Indicates the course to be taught by the teachers to the students throughout the year. /@ﬁﬁﬁ&lﬁmmﬁ UelU
ST TS UTeash 1 S1d IR 3

Correct Answer :-

« Indicates the course to be taught by the teachers to the students throughout the year. /ﬁaﬁﬁﬁmmiﬂa‘rﬁ UelU
T 9T UTSUshH & ST R B

30) Students can overcome their misconception for the long term through: /

faremdf Srafafer & fra Arenw § A g srauRoUmS ¥ UR UT 9Hd § 1
1. Traditional teaching / URUR fRrefor



2. Standard teaching / HIh fRrefor
3. Refutational teaching/ fARTEHT Rrgror
4. Conventional teaching / TRURTTA fRraror

Correct Answer :-

. Refutational teaching/ FARTEHUT fR1&f07

Topic:- General Sanskrit(L1GS)
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Topic:- General English(L2GE)

1) Read the following passage and answer the question given below:

The count-down's beginning at the launching pad. The astronaut's pulse is beating like mad. Ten says the counter-1'd better check the dials.' Nine says the counter-Access all
the computer files.' Eight says the counter-'I can't find my key!' Seven says the counter-'I 'm glad I had my tea!'-Six says the counter- 'l must try to keep calm.' Five says the
counter-'Or else I'll come to harm.' Four says the counter-'Oh, I've found it at last.' Three says the counter Oh, now I 'm ready for the blast.' Two says the counter-'I 'm all in
a flurry.' One says the counter-'It's too late now to worry!' WHOOSH - they're off in a flaming HURRY!

What happens when the counter utters ‘ten’?
1. The person is checking the dials

2. The person is checking the fuel

3. The person is checking the engine

4. The person is checking the panel

Correct Answer :-

e The person is checking the dials

2) Read the following passage and answer the question given below:

The count-down's beginning at the launching pad. The astronaut's pulse is beating like mad. Ten says the counter-I'd better check the dials.' Nine says the counter-Access all

the computer files.' Eight says the counter-'I can't find my key!' Seven says the counter-'I 'm glad I had my tea!'-Six says the counter- 'l must try to keep calm.' Five says the
counter-'Or else I'll come to harm.' Four says the counter-'Oh, I've found it at last.' Three says the counter Oh, now I 'm ready for the blast.' Two says the counter-'I 'm all in
a flurry.' One says the counter-'It's too late now to worry!' WHOOSH — they're off in a flaming HURRY!

Where is the astronaut?

1. In space

2. Outside the launching pad
3. In the launching pad

4. In the space-ship

Correct Answer :-

® In the space-ship



3) Read the following passage and answer the question given below:

The count-down's beginning at the launching pad. The astronaut's pulse is beating like mad. Ten says the counter-1'd better check the dials.' Nine says the counter-Access all
the computer files.' Eight says the counter-'I can't find my key!' Seven says the counter-'I 'm glad I had my tea!'-Six says the counter- 'l must try to keep calm.' Five says the
counter-'Or else I'll come to harm.' Four says the counter-'Oh, I've found it at last.' Three says the counter Oh, now I 'm ready for the blast.' Two says the counter-'I 'm all in
a flurry.' One says the counter-'It's too late now to worry!' WHOOSH - they're off in a flaming HURRY!

What happens at count-down nine?
1. Rocket is readied

2. Astronaut gets ready

3. The engine is switched on

4. The computer is accessed

Correct Answer :-

e The computer is accessed

4) Read the following passage and answer the question given below:

The count-down's beginning at the launching pad. The astronaut's pulse is beating like mad. Ten says the counter-1'd better check the dials.' Nine says the counter-Access all
the computer files.' Eight says the counter-'I can't find my key!' Seven says the counter-'I 'm glad I had my tea!'-Six says the counter- 'l must try to keep calm.' Five says the
counter-'Or else I'll come to harm.' Four says the counter-'Oh, I've found it at last.' Three says the counter Oh, now I 'm ready for the blast.' Two says the counter-'I 'm all in
a flurry.' One says the counter-'It's too late now to worry!' WHOOSH — they're off in a flaming HURRY!

When six is counted what does the astronaut in the rocket do?
1. Is asked to be calm

2. Becomes calm

3. Reminds himself to remain calm

4. Is unable to be calm

Correct Answer :-

« Is asked to be calm

5) Read the following passage and answer the question given below:

The count-down's beginning at the launching pad. The astronaut's pulse is beating like mad. Ten says the counter-1'd better check the dials.' Nine says the counter-Access all
the computer files.' Eight says the counter-'I can't find my key!' Seven says the counter-'I 'm glad I had my tea!'-Six says the counter- 'l must try to keep calm.' Five says the
counter-'Or else I'll come to harm.' Four says the counter-'Oh, I've found it at last.' Three says the counter Oh, now I 'm ready for the blast.' Two says the counter-'l 'm all in
a flurry.' One says the counter-'It's too late now to worry!' WHOOSH - they're off in a flaming HURRY!

Where does the count-down begin?
1. Factory inauguration

2. Place takes off at the airport

3. Train flag off at the station

4. Rocket launching pad

Correct Answer :-

® Rocket launching pad

6) Read the poem carefully and answer the question given below:

The earth we live is a circle.



Hot hot sun is a circle.

The cool moon is a circle.

Delicious orange is a circle.

Bangles we wear too is a circle.
Hey...The ball we play is also a circle.
Children! Now We all know

What a circle is! — J. Sahaha Lalithambika

Who is specified to know what a circle is?
1. Children

2. Bangles

3. Moon

4. Sun

Correct Answer :-

® Children

7) Read the poem carefully and answer the question given below:

The earth we live is a circle.

Hot hot sun is a circle.

The cool moon is a circle.

Delicious orange is a circle.

Bangles we wear too is a circle.
Hey...The ball we play is also a circle.
Children! Now We all know

What a circle is! — J. Sahaha Lalithambika

The suitable title for the poem could be:

1. A circle
2. The moon
3. The sun
4. Bangles

Correct Answer :-

. A circle

8) Read the poem carefully and answer the question given below:



The earth we live is a circle.

Hot hot sun is a circle.

The cool moon is a circle.

Delicious orange is a circle.

Bangles we wear too is a circle.
Hey...The ball we play is also a circle.
Children! Now We all know

What a circle is! — J. Sahaha Lalithambika

How many things mentioned by the author is in the shape of a circle?
1. Six

2. Seven

3. Four

4, Three

Correct Answer :-
o Six

9) Fill in the blank with the correct option from those given below:

The Dean his staff to spend a larger chunk of their time with the student community.
1. authorities

2. authorized

3. authority

4, authoritative

Correct Answer :-
e authorized

10) Fill in the blanks with the appropriate conjunction.

He was intelligent brave.
1. from, to
2. not only, but also

3. though, either

4, whether, or

Correct Answer :-

« not only, but also

11) Choose appropriate articles for the given sentence:



I first met Hina ___ year ago at ____investiture ceremony.
1. an, no article required

2.a,an

3. no article required, a

4. no article required, the

Correct Answer :-

12) Choose the appropriate option that rewrites the given sentence in its passive voice.

Gautham Gambhir has announced his retirement from all formats of cricket.

1. His retirement had been announced by Gautham Gambhir from all formats of cricket.
2. His retirements from all formats of cricket have been announced by Gautham Gambhir.
3. His retirement from all formats of cricket has been announced by Gautham Gambhir.

4. Gautham Gambhir has been announced by his retirement from all forms of cricket.

Correct Answer :-
 His retirement from all formats of cricket has been announced by Gautham Gambhir.

13) Choose the appropriate tenses to fill in the blanks in the given sentence:

Sorry we late, we a wrong turn.
1. had been, were taking

2. are, took

3. were, were taken

4, are getting, had taken

Correct Answer :-
e are, took

14) Choose the appropriate antonym for the highlighted word in the given sentence.

She is secretive about how much money she earns.
1. callous

2. forthright

3. cautious

4. covert

Correct Answer :-

 forthright

15) Choose the appropriate pronouns in the given sentence:

go for a regular health check-up at the clinic run by cousin.



1.1, my
2. 1t its
3. She, her

4. He, his

Correct Answer :-

16) Choose the appropriate synonym for the highlighted word in the given sentence.

My mother would warn me not to fidget in my place while she combed the knots out of my hair.
1. tussles

2. curls

3. entanglements

4. ties

Correct Answer :-

e entanglements

17) Choose the appropriate prepositions for the given sentence:

He sent her a lovely bouquet roses, which she threw the floor.
1. in, against

2. on, for

3. of, on

4. of, at

Correct Answer :-

18) Choose an appropriate modal for the given sentence:

Tasneem swim like a fish.
1. must
2. shall
3. may

4. can

Correct Answer :-

19) Choose the option that best explains the highlighted expression:
He had flu a couple of months ago and he's been a bit off-colour ever since.

1. flushed

2. over cautious



3. hyper sensitive

4. not being his usual self

Correct Answer :-
« not being his usual self

20) Choose the option that best combines the given sentences.

The speaker had just finished his speech. The people started shouting slogans.
1. Hardly had the speaker finished his speech when the people started shouting slogans.
2. Hardly had the speaker finished his speech than the people started shouting slogans.
3. Hardly had the speaker finished his speech then the people started shouting slogans.

4, Hardly had the speaker finish his speech and the people started shouting slogans.

Correct Answer :-
« Hardly had the speaker finished his speech when the people started shouting slogans.

21) Choose the option that best transforms the sentence into Indirect form:

‘Ugh! There’s a fly in my soup. Waiter!” he cried

1. Exclaiming with disgust that there has been a fly in soup and began to call the waiter.
2. He exclaimed with surprise that there was a fly in soup and called the waiter.

3. He exclaimed with disgust that there was a fly in his soup and called the waiter.

4. He exclaimed with horror that there is a fly in soup and called the waiter.

Correct Answer :-
» He exclaimed with disgust that there was a fly in his soup and called the waiter.

22) Choose the option that substitutes the given phrase appropriately.

Action of getting rid of something
1. Sale

2. Disposal

3. Dismissal

4, Relief

Correct Answer :-
» Disposal

23) Read the sentence carefully and choose the option that has an error in it:

I did not understand their predicament until John explained me all the details of the mishap.
1. until John explained me
2. all the details

3. I did not understand



4. of the mishap.

Correct Answer :-
« until John explained me

24) Read the sentence carefully and choose the option that has an error in it:

Anyone who wish to participate in the competition may do so by tomorrow.
1. in the competition

2. may do so by tomorrow.

3. Anyone who wish to participate

4. No error

Correct Answer :-
e Anyone who wish to participate

25) Change the given sentence to Indirect speech.

“I am reading a book,” he explained.

1. He explained he will be reading a book.

2. He explained that he was reading a book.

3. He explained that he has be reading a book.

4. He explained that I am reading a book.

Correct Answer :-
» He explained that he was reading a book.

26) Fill in the blank with the most appropriate preposition from the options given.

I need some help my homework.
1. over

2. below

3. with

4. above

Correct Answer :-
o with

27) Choose the most appropriate determiner in the given sentence.

Amazon is considered to be the largest river in the world.
1. A
2. This
3. The

4. An



Correct Answer :-
e The

28) Fillin the blank with the correct option in the given sentence:

An apple that has ripened to a soft stage may be said to be —ripe.
1. un--

2. over--

3. under--

4. in--

Correct Answer :-

29) Fillin the blanks with the correct options in the given sentence:

Carbonat-- water gives soda pop its effer--.
1. --ing, --ion

2. --ion, --ings

3. --ed, --ence

4. --ive , --ance

Correct Answer :-
e --ed, --ence

30) Choose the right tag:

You attended the meeting, ?
1. did you

2. didn't you

3. have you

4. haven't you

Correct Answer :-

» didn't you

Topic:- Social Science (SSC)

1) which organization has established the Financial Mechanism named 7he Green Climatic Fund? | m W ﬁ q '§ﬂ7'|'

FAARRS e 7 o1 i<t yomrelt w=ifia 91 22
1. WWF / S&ggecgUth

2. UNEP / gEAsH!

3. UNFCCC / QUATGHHE

4. UNDP / quASIq!



Correct Answer :-

« UNFCCC / guAUGH T

2) Which Greek ruler or ambassador became Vaisnavite and erected Garuda Pillar at Besnagar? / fea '!]F'I'Fﬂ RMHD 9T

IoTgd A AU TR ITTR A T8 W Tarn?
1. Alexander / Qi ex

2. Selucus / @w

3. Heliodorus / gferdleR™

4. Demetrius/ iflﬁT{N

Correct Answer :-

« Heliodorus / %W?ﬁw

3) The main objective of setting up a social science library is: / TSI fAF QXABTAT TIMAT B BT BT I
|

1. For recreation and enjoyment / TR 3R 3{HE & forg
2. As place of preparation for competitive examinations / gfeanft oiemaft @t Ut & =M & T4 H

3. To enable the pupils, engage in self-study and for reference / faenffat @ - sremae o o dAT SR Wed & o gem
SEIGH

4. As a common place for independent study / WA T & ﬁvﬂ;f T HqMHY SITTg FEUH

Correct Answer :-

« To enable the pupils, engage in self-study and for reference / TAENTITT Y T-31eqg= T Terd BT 3R T & forw wem

4) The evaluation which compares a person’s knowledge or skills to the knowledge and skills of a particular group is known as:

| 98 qeuic S frdt safdd & g1 ok Brerd $1 gom fed fady a5 & 71 3k Sivra @ sar @
1. Criterion-referenced evaluation /W—ﬂﬁ'ﬁhw

2. Formative evaluation / TN / TaHTHS P RICE!

3. Norm-referenced evaluation /31f<c 121 H@W

4. Summative evaluation / GRS / Gha-THS / 3ifad W

Correct Answer :-

« Norm-referenced evaluation /31fd fRrd W

5) Milindapanho text is in the form of a dialogue between the king Menander and Which

Buddhist monk? / fiftigus 3y e fmvsR ofk fora aies fugl & ot aratary &1 qui= 32
1. Nagasena /AR

2. Nagabhatta / AFTYHE

3. Nagarjuna /=|'ITH§[=[

4. Kumarilabhatta / AR Yg

Correct Answer :-

. Nagasena / TRRH



6) A Commission to review the working of the Constitution was appointed by Government of India under the
Chairmanship of ./ HIRd TP GRT P reear § Wiau & s 9t witen & e ve smakT
Frgera fosar mar T

1. Justice Sabyasachi Mukherji / :qmqﬁﬂwﬁr H’@Trﬁ
2. Justice Ranganath Misra / WH:% ST s

3. Justice J. S. Verma/wa.w. gaf

4. Justice Venkatachaliah / WW

Correct Answer :-

« Justice Venkatachaliah / mmqﬁamﬁm

7) Topics of study suitable for the age, ability and interest of children are included in the curriculum are known

as ./ T B A, &rar R BRI & fore Iuged srerae & fawal ) ureusy A e frmrwrar g, ™ wan
raT gl

1. Topical approach / TS ERHIT

2. Unit approach / THTS DB

3. Spiral approach / Sffa efPior

4. Chronological approach / mm

Correct Answer :-

» Topical approach/wmgw

8) Black money is also known as ./ BT Y[ B & =g # off ST ST g1
1. Dynamic economy / T3 Srefoaw

2. Moderate economy / H&H SrfeawyT

3. Parallel economy / JHHIR SifegaRt

4. Stagnant economy / fRR srfeaw

Correct Answer :-

« Parallel economy / FHFTGR TG

9) “Nature provides opportunities and human being make use of these” is central theme of which of the following
geographical philosophy. / "UPHTd THR USTH Bl 8 3R AIHG 3T IUTNT Hal 8" A9 # A fory vimifers
SRR P HE AT g1

1. Possibilism / §HIdTG

2. Marxism / HTRIdTG

3. Feminism / TRIATG

4. Determinism / FAafdarg
Correct Answer :-

« Possibilism / GHadIG

10) In which case the Court ruled that nobody, not even the Parliament (through amendment) can violate the basic

structure of the Constitution? / g A & |graTey A B feofe aﬁz{ ‘l-ﬁ, qgi db & Tdug (ﬁ'SZﬁEFI' & HIHH ﬁ)



AU & o e BT Ieeia g1 B Hobdl o2

1. Minerva Mills vs. Union of India /ﬁﬂa’f g 99 YR 99

2. Mukti Morcha vs. Union of India / Hﬁf Hrat S| YR 99

3. S. R. Bommai vs. Union of India / T¥. 3R, Eﬁ'ﬂ:lg I YRd 99
4. Kesavananda Bharati case / W YRG! TR

Correct Answer :-

« Kesavananda Bharati case / mﬂ?{ YR UH0T

11) Who established the Indian Statistical Institute? / HRAH FifIe! TR B RITYAT fraa B2
1. Jawahar Lal Nehru / STaTeR ST g%~

2.V.K.R. V. Rao /@l . 3R. d1. X@

3. R. C. Desai / 3. T, aql_ip

4. P. C. Mahalanobis / oY, . mﬁg

Correct Answer :-

« P. C. Mahalanobis / T}, T, #gTa-ITeT

12) Who can increase the number of judges if deemed necessary? / gfe smazas GEELRS LY O =i $t e siF
I IPAT 82

1. President / ?TgCIﬁT

2. Chief Justice / J&T ~ATATENRT
3. Parliament / §9¢

4. Cabinet /ﬁﬁﬁ?oﬁ

Correct Answer :-

« Parliament / g

13) Who is the exponent of Play-way method? / -3 faf¥r & ufoures 9 %.?
1. Maria Montessori / ATRAT ATCER

2. Friedrich Froebel / Th8Reb Thiad

3. D.W. Allen /3. S&Y, Q@H

4. Jean Piaget / S o)

Correct Answer :-

« Friedrich Froebel / TFgRes Thldd

14) Who can create Vidhan Parishad in a State? / 3759 ¥ fayr uRug &1 fAafor #19 o3 Gwar g?

1. Chief Minister / FREFAT

2. Governor / XSl
3. Cabinet / AfHsd

4. Parliament / §9q



Correct Answer :-

« Parliament / 99

15) India Gate was built as a memorial to the soldiers of ./ Sf&T e ot F Al 3 Fjﬁf e
RS & =Y § TG 747 4T

1. World War I Wﬁw

2. Indo-Pak War 1965 / HRJ-UI® & 1965
3. Bangladesh War /E’i"?“l'lﬁ'-‘\’[ J&

4. World War 11 / G¥R faRags

Correct Answer :-

« World War 1 /T8¢l faRags

16)  has the sole right to mint coins. /—a? I Ryad TIEﬁ BT THAT ATUPR gl
1. State Bank of India / YR ¥e %

2. The Reserve Bank of India / YR Rord o

3. The Commerce Ministry / qIforsg HATeg

4. The Government of India / HRd IXPR

Correct Answer :-

o The Government of India / HRd TRPR

17) is a community-based poverty reduction programme being implemented in Kerala for the emancipation of

women. /_____, va § afgarsi &) gfea & e ve ager-enutfia Tt fFaru srfwu g1
1. Kudumbashree / g4t

2. Kudumbayogam / P SEANTH

3. Kudumbasametham / $gaaIY

4. Kudumbavilakku / $graideadp

Correct Answer :-

« Kudumbashree / Sgrasit

18) evaluation is school based and aims at all round development of the student. / W hd

YT 3 SR B & |afifior faera w1983 71
1. Intermittent / 3TcRTAD

2. Continuous and Comprehensive / ddd 3R IS
3. Periodic / TR

4. Phase-wise / TRU-dR

Correct Answer :-

 Continuous and Comprehensive / ddd 3R IS

19) The members of the Rajya Sabha are elected for a term of ./ XTSY U1 ¥ '\‘lﬂ'\qﬁ Ca * PrdPTd &
g ST g1



1. 6Years/63'5f
2. 2Years/23'5f
3. 4Years/45|'5f
4.5 Years/Sa'Ef

Correct Answer :-

. 6Years/65|'5f

20) The Directive Principles of State Policy have been adopted from Constitution. / I Hifa & ifa ﬁ%&m aeal

B &Iy @ /o T g
1. Netherlands / FexclS

2. Swedish / WIS

3. Irish / 3TATRRT

4. Canadian / TSI

Correct Answer :-

« Irish / 3R

21) The Pioneer of activity-based learning is J Tfafafy-smenfya Siftnm & uyw srau® ?I
1. John Dewey / i Sial

2. David Horsburgh / sfas BW

3. Robert Slavin / J&C 1A

4. Adam Wesley / USH CEs|

Correct Answer :-

« David Horsburgh / sfas E’ﬁ@‘f

22) The emission of gas as a result of the greenhouse gas effect from various agricultural activities causes

negative impact to the society. / fafi= ?Fm' nfafafRry | dsew T & UHTT S TRUMHEY ekl
IS AIATaRYN TR AHRIAD TS STeral 3 |

1. Chlorofluorocarbons / FARTTARIDB TS
2. Helium / Biferayq

3. Nitrous oxide / IgCYH \3‘|'\|,Ti|'\‘:|'|3€r
4. Ammonia / 3T

Correct Answer :-

« Nitrous oxide / FIgCH m

23) The technique for generating creative ideas and solutions through intensive and freewheeling group discussion is

known as ./ g 3R IR Tt & arerd | THTHS fAaR) o IHUH S SRA P apad H_ &
9| AT AR

1. Panel discussion / Ot =i
2. Brainstorming / § Sefied

3. Dialogue / Hdlg



4. Debates / are-faare

Correct Answer :-

 Brainstorming / § Suierd

24) The Integrated Rural Development Programme (IRDP) was introduced in . /Wmﬁm
PHTAHH (IRDP) o 3y forar o

1. 1971
2.1973
3. 1966

4. 1978

Correct Answer :-

« 1978

25) Which of the statement regarding Barbara caves are true? / STIRAXT '{['fﬂ\?vﬁ F oy A Ffafaa d § s I sy
g

i. These caves are the oldest surviving caves./ q '{[Wlﬁ LCE gTFﬁ Sifaq '[['J"Iﬁ' %'I

ii. They were built during the reign of Ashoka. / S TPT frafor st & e A BT UTI
iii. They were dedicated to Ajivikas. 1 3reiifaet &t waffa A1

1. All are correct. /H’-ﬁﬂfﬂ%l

2. Only ii / Had ii

3.Only I/ $hdd i

4. Only iii / Pad iii

Correct Answer :-

« All are correct. / THT ﬂé‘r %I

26) Which of the following has highest Albedo? / fafafaa o 3 feaer Q’aﬁs‘r (APIRITIUT) a9 3 T;-ﬁ'aT %?
1. Fresh Snow / dIeht i
2. Sand /¥d

3. Forest / d-

4. Dry Soil / @ gaT

Correct Answer :-

e Fresh Snow / areit few

27) Which of the following was the main objective of first five year plan of India? / fFrafafaa @ #19 yRa Y uyw
Teafa g &1 4T 3ER4 U1?

1. Service sector growth / @Eﬂ 833 fomm

2. Industrial growth / m fawrg

3. Agricultural growth / ?ﬁ fawra

4. Growth in manufacturing / fafmfor & faera

Correct Answer :-



o Agricultural growth / @—ﬁf fawrg

28) Which commission identified 3943 castes as Other Backward Classes and recommended 27% reservation in
government and semi government jobs and admission to educational institutions? /ﬁm ST A 3 ﬁET:T T FETH
3943 SIfad} o} UgAH $1 3R WP T 3ref TReprt Npfval 3R Rerfore T # wawr & 27% MReur &t
fRrwri=r @t

1. Kalelkar Commission / HTAAB T

2. Mandal Commission / Hed 3TN

3. Ramanand Prasad Commission / I G UG 3TNT

4. National Backward Classes Commission / T@'q ﬁ@_f':T T TN

Correct Answer :-

« Mandal Commission / HSd ST

29) Which Amendment introduced the word ‘Socialist’ in the Preamble to qualify our ‘Republic’. / fra T=me 9 R

RTUT BT SEdT YT B & T, YRATa-T H HHTSIATET Xeg D1 A fbar T AT
1. 4204
2. 46™h
3. 48h
4, 44th

Correct Answer :-

. 421’ld

30) Social Science exhibitions, fairs and cultural shows are meant to WE:IClSED ﬁ?lﬂ uﬂ'ﬂ:ﬁ, A i
ARPIAP HRIHH BT HRI gl

1. provide a creative channel for learners /ﬁT&‘le & PCTQ Uh HySqIHD :Hﬂ Ul Bl
2. show the talents of social science teachers / AT ﬁ?‘ﬂq ﬁT&Iﬁ BT UfdHT a@ q

3. increase the reputation of the school / ¥p ¢l AR IGEICHE

4. invite and entertain the parents / ATdT-fOraT T ST 3R I HARSH BT

Correct Answer :-

« provide a creative channel for learners /ﬁr&rrﬁfq‘r & ﬁ“l'q Ub Hy o qIHD EEY! T hAl

31) To know the opinions of learner’s on the ‘Right to Education’, the teacher uses which of following processes? / ‘ﬁT&‘IT Cal

iftreR: farva o Rignfa Y I wem F forg, Rieres Faffea & S frw uftear &1 Sugivn wwar 32
1. Shows a video clipping / T I faaft fazarar g1

2. Gives a project / URASHT (UIoige) ST |

3. Conducts a discussion / T TN BT G|

4. Provides a problem / U JHIT Sl g |

Correct Answer :-

e Conducts a discussion /a?ﬁ ST BT %l



32) The term ‘Civics’ in Social Science text changed to ‘Social and Political’ with the recommendation of: / LICISED ﬁﬁﬂ e #

& R R IR U Xeg Y ARG SR Ie-ifae ® gea faar ma: -
1. Secondary Education Commission / AT TRI&T STANT

2. NCF 2005 / TTHIT®H 2005

3. Justice Verma Committee / <ITd THT TfHT

4. NPE 1986 / Q:I‘j '5‘ 1986
Correct Answer :-

« NCF 2005 / TTIITE 2005

33) “The central function of Social Science is identical with the central purpose of education i.e., the development of democratic
citizenship”, was stated by: /

"TTATTE AR 1 Sty S FRUem & Feia ILxa F U ©, 3Uid, Apdiie e &1 QR a8 A grt
T AT UT-

1. James High/mglg

2.]F. Forester/@f.w. IR

3. John V. Michaelis / STi=T . Ilw
4, Edgar B. Wesley / TSTR CIRCES]

Correct Answer :-

« John V. Michaelis / STi-1 dI. AT eI

34) In Vedic Era, Akhyani was the goddess of which of the following? /aﬁ?ﬁ g A «3ragvfly it & 3 feast a'Cﬁ
UiF

1. Forests / d-
2. Rivers / Afedl
3. Fire / 30

4. Peace / XA

Correct Answer :-
« Forests/dd

35) The scaled-down teaching encounter in class-size and class-time is known as . /$&IT%7 AHTPR Gﬁ'\"?ﬁ&ﬂ *

w9a § Rigror & s e HH S, F U § ST 1T §
1. programmed instruction /A ﬁéQ
2. micro teaching/[&H fRrgror

3. simulation /RIJARM (3IHR)
4, team teaching / <1 fRreror

Correct Answer :-

« micro teaching/J&H FRI&UT

36) Which of the following cities was the capital of India from 1772 to 1912? /
frafafaa & @ &9 91 e af 1772 ¥ 1912 96 HRd P IS 412



1. Daulatabad / GiAdTETG
2. Delhi / feeett

3. Bombay /Eﬁﬁ

4. Calcutta / dIdpdl

Correct Answer :-

« Calcutta / ddIdpdl

37) Ahmad Shah Abdali invaded India for the first time during the reign of which among the following Mughal
Emperors? / fFafifaa gma qumel & 3 fras Iea § Sgdg qMe Srearell 7 YRd W Ugdl SR STshHvT fahar 41?

1. Ahmad Shah / 3{gHq Rl
2. Muhammad Shah / HgWH¢ RIT8
3. Shah Alam-II / RMTg ATAH-II

4. Akbar-II / D ER-II

Correct Answer :-

o Shah Alam-1I/ RTg ATTH-1I

38) CCE stands for: / ?ﬂ?ﬂg BT Hddd %:

1. Continuous and Cumulative Evaluation / Hdd @TWW WGWW

2. Continuous and Cumulative Examination / ddd 3R Tt uten m@mﬁﬁmﬁm

3. Continuous and Comprehensive Evaluation / Jad qdT HfdaR0l qih (Hﬁ?ﬁw TS HinfeRa EELENIE)
4. Continuous and Comprehensive Examination / Sdd T AfdaRul TRAET (Hi<i-gay TS HIBipRd Taaili—m)
Correct Answer :-

« Continuous and Comprehensive Evaluation / Hdd Ul ﬂﬁww m@mw
39) The exponent of theory of multiple intelligences is: /EE-EIﬁT'J-IT Ry & ufaures A &

1. J.P. Guilford / . 0. fIeTp1S

2. L.L. Thurston / ¥d. Ud]. YT

3. Howard Gardner / B'Taé MER

4. Robert J Sternberg / ee & Tt

Correct Answer :-

» Howard Gardner / B'ﬁ?f MER

40) Branched programming is also known as: / i i &1 e A & o S S %I
1. Intrinsic Programming / AR T

2. Extrinsic Programming / STgI PipliEn]

3. Straight line Programming/ Teft 31 Uit

4. Skinnerian Programming / =TT TrmfdT

Correct Answer :-

« Intrinsic Programming / SR TR



41) The World Trade Organisation was established in the year ./ 3y SR e & wigEr af ugs
Oifl

1. 1995
2. 1991
3.199%4

4. 1989

Correct Answer :-

« 1995

42) Which of the following is not a characteristic of Palaeolithic Age? / ﬁwﬁr@aﬁﬁﬁq—@ﬁmm
o1 Tw faRiwar gt 32

1. The Paleolithic also used microlithic stone tools. / YRTUTHTUT ﬁ&ﬂTQTﬂH TR & 3MRI &7 ot Sﬁ'ﬂﬂﬁ CRGR

2. During the Paleolithic age hominids grouped together in small societies such as bands./ Q,QTQTN'I'UTW%EE NG|
ST I S B TaTS B Ue 1Y Iga< 31

3. The Paleolithic is characterized by the use of knapped stone tools, although at the time humans also used wood and

bone tools. / TRTATSTO] T AIHER TR & ISR & ITINT ¥ UgaHT ST 8, BT 39 T A4 dhe! 3R 831 &
3TSIRT &7 4 SugiT v A

4. They subsisted by gathering plants and fishing, hunting or scavenging wild animals./ 3 el 1 PG PR SR TS
Uh SR, FRIGR B TT TR GUSHIC! THARI DI W Sifdd Igd |

Correct Answer :-

« The Paleolithic also used microlithic stone tools. / YRTUTHTUT ﬁ&ﬂTQTﬂH TR & 3RI &7 i Sﬁ'ﬂﬂﬁ CRGR

43) Who fought Mohammad Ghori at Battle of Tarrain in 1191 and 1192 ? / 1191 3R 1192 H TRTS< & Y5 H Higwlg ™Y
BT gPpTaal fora fosar 2

1. Lakshmana Sena / GI&H0T I

2. None of them / s:l'ef @fﬁ's‘ 7‘@1

3. Jaichand / ST9<

4. Prithvi Raj Chauhan / G2@! IS 918

Correct Answer :-
« Prithvi Raj Chauhan / qtfﬁw SIiE
44) CANCELLED

When farmers sell a portion of their agricultural goods in the market, it is called ./ 919 fpam, IR T 3rgt

PRGN FTTE RRTITAE, I perwmarg|
1. Marketed surplus / faufora Sifa=is (@reh ¢ W)

2. Marketed output / fqGfOTd TG

3. Surplus goods / ITIRT ATA

4. Total output / P FHTGT

Correct Answer :-

« Marketed surplus / fauford SR (AP ¢S &)



45) Literacy refers to: / dI&dl BT daread T8l
1. Reading only /W%ﬁ

2. Speaking only/ FHad S

3. Writing only/ FHad foraq

4. All of the above / SURIGd T+

Correct Answer :-

« All of the above / STRIGd g+

46) During the reign of which ruler of Bahmani kingdom was the capital shifted to Bidar from

Gulbarga? / TgH- WTUTSY & {5 AP & ARAPTA P SR AU AT A SR RIHGRT 2§ 1t ofi?
1. Ahmad shah / 3{gHcq XTe
2. None/ﬁﬁaﬁqﬁ

3. Aluddin shah / 3{d B'Ef ERUE
4. Vira shah / fa_T QTe

Correct Answer :-

« Ahmad shah / 3{gHg R0T8

47) Which ruler of the Vijayanagar empire wrote a famous book 'Amukta Malaya'? / fasaTR 9T %
o5 Ima® A U URIs Ra® "sgdar aad” ford! 4

1. Harihara / 8R&%
2. Dev Raya Il /CARI I
3. Dev Raya | /SARA 1

4. Krishna Deva Raya / qm%a K

Correct Answer :-

« Krishna Deva Raya / W[ X4

48) was the committee constituted on ‘Revitalisation of Panchayati Raj institutions for Democracy and

Development’. / TPa 3R ey F Rrg daradht vo SRl $ TR w__ |fify &1 7o far mar uni
1. Ashok Mehta / 3= Hgdl

2.GVKRao /S dl &34

3. L M Singhvi / Ta T gt

4. Balwant Rai Mehta / S6dd X1 Hgdl

Correct Answer :-

« L M Singhvi / 7@ TH Rfgat

49) Which ruler defeated Harshavardhana? / %\qwﬁgﬁadﬁaﬁm?

1. Vasudeva of Chahamana Dynasty / q g1 (dIgHIT ) CRIECD diad
2. Nagabhatta I of Gurjara Pratihara Dynasty /7 oR UfdgR a9 & ANTHE UYH
3. Pulakeshin II of Chalukya Dynasty / T 9T & Wﬁﬁ feara



4, Shashanka of Gauda dynasty / TS 9% & Q=Ah

Correct Answer :-

« Pulakeshin II of Chalukya Dynasty / ITad T & ga%qﬁ EGIR
50) Arrange the following events in the order of their chronology:
1. August Offer

2. Poona Pact

3. Third Round Table Conference

4. Khilafat Movement /

FrafafEa gesi $1 9% Hrawd & HH A Fafeud o

1. SR U9

2. QAT QT

3. TR e g

4. faeTwa siigre

1. 1-2-3-4

2.4-3-2-1

3.2-3-1-4

4, 4-2-3-1

Correct Answer :-

. 42:3-1

51) During the integration and merger of states after India’s independence, the Government of India rejected the farman

of which State’s ruler? / HIRd &1 Tad=dl P I1G ITed] P Yo IbR0T 3R fITa & SR, HRd PR A [$a Iy &
URIP & BIHH B RATPR H faar?

1. Raja of Kashmir / HIER & Il
2. Ruler of Travancore / JTJUIBR & YMTH

3. Ruler of Junagarh / 9" Te & D
4, Nizam of Hyderabad / gaxIaTe & ey

Correct Answer :-

« Nizam of Hyderabad / %3€ d1G o

52) On which of the following proposals Mahatma Gandhi remarked “A Post-dated cheque on a crumbling bank”? /

weTe gith A g # A fry uwarg R feuoll # fr "ag om) &) afia &1 3% U1, ST 8@ 93 81 arar uti?
1. August Offer / 3T UXdId

2. Communal Award / mw

3. Government of India Act 1935 / YRd TRBHR HAFATT 1935

4. Cripps Mission / Tt frRM

Correct Answer :-

« Cripps Mission / fop e fir==



53) Tibetan Plateau can be best placed in which among the following categories of Plateaus? / fasdt TR &1 TeR Ft

fFrafafaa 3w & feg @ w® @ s asare?
1. Intermontane Plateau / JIdRTIAAT TSR
2. Dissected Plateau / fawsfed TR

3. Volcanic Plateau / SATTIET TSR

4. Continental Plateau / ﬂ%@fﬁﬂ U3R

Correct Answer :-

. Intermontane Plateau / 3cRTUAAY TSR

54) Stream flowing in the direction opposite to the original consequent slope is known as. / RIS 3@3’& TAA S

faudia fa=zn & yarfed yR1 @1 Fg & S A ST ST 7
1. Obsequent / W—:[a—cﬁ
2. Resequent / qﬁl’l’:],’ﬁl?ﬁ

3. Sunsequent / GGE?W
4, Insequent / 3pHaA

Correct Answer :-

» Obsequent / Wﬂ?ﬁﬁ

55) What percentage of the world's volcanic activity occurs within the oceans? ACEE ] W’I?I'I'ﬂ@ Tfafafy &1 framn
yfererd 7EERRI & iR gia1 82

1. 40%
2. 50%
3. 70%

4. 90%

Correct Answer :-

e 90%

56) Which of the following is the largest mangrove forest in the world? / fafafeada «= fay o ged qgsT A a4
82

1. Greater Antilles Mangroves, Cuba / PRy Q_Cﬁﬁ’i\_rf ﬁ'ﬂ;ﬁa’, sl

2. Sumatra Mangrove forest, Indonesia / gHIAT g d-, s’sﬁﬁm
3. Bahia Mangroves, Brazil / EIT%'QT ﬁ‘?ﬁﬁ, CISIS]

4. Sundarbans Mangrove forest, India / W"a‘;ﬁa?ﬂ, HRd

Correct Answer :-

« Sundarbans Mangrove forest, India / w:f =0 I gq, HRd

57) The Gandhi Sagar Dam is built on which river in Madhya Pradesh? / Tt AR 9iY AL Q%QT A fea :lﬁ TR d41d1
T R?

1. Narmada / :lﬁ?ﬂ



2. Tapti /HTEﬁ
3. Son /@Ff
4. Chambal / Idd

Correct Answer :-

« Chambal / ddd

58) Guantanamo Bay is located in which country? / LCIGIRIE] E’ITE& fra I d g %?
1. Cuba / HJdT

2. Haiti / geiT

3. Bahamas / dgTH

4. USA / 3f3ieI

Correct Answer :-

59) The Dehang-Debang Biosphere Reserve is located in which among the following states? / fafafeada frawsa
SEI-gaiT Savsa Red fRua g2

1. Arunachal Pradesh / 3TUTAd U=

2. Manipur / IIﬁTﬂT

3. Assam / 3HH
4. Sikkim / fafa®q

Correct Answer :-

« Arunachal Pradesh / 31U TS

60) Solar Valley, world’s largest solar water heater manufacturer is located in which of the following countries? /

ot & @ fea 3= ¥ Jer a1, fay &1 e 9371 R oa arue fHufar fRa @2
1. Japan / SITUTT

2. China / dH

3. Australia / 3TRSTerAT

4. Germany / ST

Correct Answer :-

« China /4



